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0.0045 0.0143 0.2 0.70
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mh Distance Ground Elevatic Sewer invert

1 0 106.6 102.13
7 200 106.45 101.23
3 350 106.38 100.56
1 a5 106.32 100.26
s a0 106.3 99.87
5 750 106.25 99.36
7 1000 106.11 98.66

106.08 98.28

g 1100



BOQ

Width of trench
Diameter Width Line length depth of
excavation (an
02 07 200 485
025 073 150 352
03 0.3 730 6.74

| Amount of Excavation

=Widih * Length *
For02: 670 m3
For0.23: 621 m3
For0.3: 4044 m3
. length needed
Pipes:
pe (m)
200mm 200
230mm 150
300mm T30
Manhole covers: 3

manhole covers



Question 2: 10 points)
Where inverted siphon in a sewer system is commonly used and what is its principal dasign.

An inverted siphon is used to carry wastewater (or stormwater)
through a depression, be it a body of water or a highway or some
other obstacle.

In the siphon, the pipe falls below the energy line, and thus is filled
completely with water/wastewater and flows under pressure rather
than gravity.

This illustration shows its principal design:

As per PWA specifications,
an invert siphon has a minimum
pipe diameter of 1530mm, and an
average flow velocity of 0.9m/s.




Question 3: 10 points)
What are the main inspection activities in the sewer network.

Recording of deficiencies, identification of problem areas (broken
pipes/leakage gtc)

Preparation of a repair and replacement schedule for sewer pipes,
manhole covers, etc spanning 5-25 years.

Preparation of a sewer cleaning schedule.

Preparation of an inspection schedule.



